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    2. Check 1 b). [2]
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4. What is the slope of the line segment shown? [2]
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5. Rearrange the formula     to isolate u. [2]










Application
6. Ilia works as a shoe salesman. He earns $200 a week plus 5% commission for his sales.
a) Write an algebraic expression to model this situation. [2]





b) Determine the x- and y-intercepts. What do they mean?  [4]







                      
             
7. This year’s prom is being held at The Eglinton Grand Banquet hall. The cost to rent the room is $1000 plus $80 for each person being served.
a) Create a table of values showing the total cost of the prom for amount of people 0, 50, 100, 150, 200, 250.  [2]
	Amount of people
	Total cost

	0
	

	50
	

	100
	

	150
	

	200
	

	250
	



b) Is the relation between the amount of people attended the prom and its cost direct or partial variation? Explain why. [2]



   
                                        




c) Graph the equation. [3]   
   [image: http://www.freewebs.com/ccbaker/photos/docs/graph_paper.gif]          
d) Find the cost for 350 guests. Is this interpolation or extrapolation? Explain. [3]             





Thinking
  9. Graph the equation using the x- and y-intercepts. 
                           
      Explain your steps. [3]         
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    9. Graph the equation using the x- and y-intercepts. 
                           
        Explain your steps. [3]                  
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11. A vending machine has $41.25 in it. There are 255 coins total and the machine only accepts nickels, dimes and quarters. There are twice as many dimes as nickels. How many of each type of coins are in the machine? [4]
                    
                                

     




                       

Communication
12. Explain the difference between interpolation and extrapolation. [4]



13. Describe the type of the equation that has an x-intercept but no y-intercept. [2] 

                   

  14. The formula for the circumference of a circle is   Identify this relation as linear or nonlinear. Explain your reasoning. [2]              
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10. Determine the equation of a line that passes through N(-2, 3)
and has a slope of % 31
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3. Determine the x-intercept, y-intercept, and slope of %n— %y- 4.[3]





 


       


 


 


 


 


 


   


 


  


  


  


 


       


 


 


 


 


 


 




                                                        

